Name :

(3 Numbers Addition by Breaking Apart )
k Tens and Ones J

61+45+51+79=7

Add the pair of dlglt
> 2+1=6 >Cﬂxddthesumi
51 6+10=16
% 79> Add the pair ofdlglts
236 9+1=10

Now, add the digits of tens columns
1+6+4+5+7=23.
The answer of the addition is 236.

Solve the problems according to the above solution

1. 85+21+49+61="7 9. 15+27+43+13="7
2. 93+42+53+76="7 10. 62 +18+25+37="7
3. 88+37+65+83="7 11. 89 +14 + 27 +56=7
4. 76 +59+76+95="7 12. 34+ 72+19+41 =7
5. 66 +68 +88 +15="7 13. 16 +51 +49+ 78 =7
6. 51+97+91 +27=7 14. 27 +11+26+89="7
7. 49+ 11+27+38=7 15. 56 +31+39+99="7
8. 32+82+17+43=7 16. 18 +21 +44+19=7
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